TITHI and T-UNIT Working  

by Brij Vij (metricvij@hotmail.com )

TITHI VALUES:

 T-unit = [2L/59th]/138 = 0.00725389 d = 1740.93371260132645541635961680177 decimal second

One Tithi =2L/59th= 1.001036884745762711864406779661 d = 138 T-units

  ONE lunation =29.5305881 days (7087341.144 decimal seconds)



   USING Tithi Duration = 966/966 d =137.9999151743863 T-units

1 day = 965/966 d =137.714348949445 T-units
Mean Lunation and ‘short tithi’: 834-yr cycle (304612 days/10315 Lunation), gives Mean Lunation =29.5309743093 days. This is achieved, using 2L/59th =1.00103688475 day (for each tithi/Phase) & close enough to ratio 966/965=1.00103626943 day (good for SOFTWARE development); OR also using 19/6932.5th year (1 Tithi =1.0010243928923 day). Mean Lunation, over longer period, for (19*834 =15846-years) cycle can be improved to: 578762774/19598755= 29.53058 8754 day”. 

All three values are important, and conducive to use in achieving the final aim, 2L/59th.

1 TITHI = 19/6932.5 year =1.0010243928923 day;

1 TITHI = 2L/59th = 1.001036884745763 day; and

1 TITHI = 966/965 =1.001036269430052 day.

Using *19/6932.5-yr tithi' causes a differential of 0.000012491853463 d, between the two to cause ONE tithi over 80134.176714229361 tithi (in 219 years 228 days 5.4254 hours). This is FOUR times in 874 years (say every 834-year cycle). Now, 834-years =304611.986184597354 days (in 10315.13443461010362 Lunations)

                =304300.26315789338846 tithi (of 19/6932.5 yr each)


=304296.465820997969101741 (tithi of 2L/59th lunation)


=304296.65286556562301926  (tithi of ratio 966/965)

My choice for ‘ratio 966/965’ is obvious over the earlier one ‘6932-1/2 tithi in 19-yr cycle’ that I used during earlier calculations. Tithi (ratio 966/965) to Tithi (2L/59th) difference over an 834-yr cycle is 0.187044567653917519 d; this accumulates to ONE tithi over 4463.450926035 years;

OR, this correction can be achieved, using , T-Unit i.e. Tithi/138 – intervals =0.007253890467 d and short accounting ‘26 tithi differentials of T/138’ once every 32 years (as TITHI SHORT). This might pose difficulty for ‘software development’ using ratio tithi. However, it  may not be a serious issue for EXPERT programmers to align 834-year cycles, and produce desired results. I, therefore, remain in favour of ratio 966/965 tithi OVER tithi value 19/6932.5-yr* to achieve the target value of 2L/59th 'tithi' value.

T-UNIT (i.e. T/138)  as unit:

 ONE lunation =29.5305881 days; 

 One Tithi =2L/59th= 1.00103688474576271186440677966102 d

 ONE T-unit =T/138 = 0.00725389 d = 1740.93371260132645541635961680177 decimal second

1 Decimal minute (md) =0.0574404408830584718358521278484122 T-units

1 HOUR = 100 md =5.74404408830584718358521278484122 T-units

12-Hours =68.9285290596701662030225534180946 T-units

1 Day = 137.857058119340332406045106836189 T-units

7 days or 1 Week = 964.999406835382326842315747853325 T-units

364 days (52 weeks) = 50179.9691554398809958004188883729 T-units

371 days (53 weeks) = 51144.9685622752633226427346362262 T-units

834-years = 304611.986184597354 days (in 10315.13443461010362 Lunations)


  = 41992912.28329773182316 T-units

20040507 to Karl:  

(a) Tithi = 2L/59th =1.001036884745763 day (24.0248852338983051 Hours); and 
(b) Tithi when linked with week: 
      T-Unit =W/965 =0.1740932642487047 hours; 
    ONE Tithi =1.001036269430052 day (24.024870466321244 Hours) 
Difference between the TWO is however =0.0000147675770611 hour which is negligible.
DECIMALISED HOURS – Conversions (Astro data): I have tried to 'compile information in  areas of time measurement' as applicable in daily life; and/or the ease with which *count of time* can help man to understand 'passage or time flow'.

 The point, I wish to add here is that man has tried and came to 'stumbling block' on:

(1) decimalisation of the YEAR count, as in Bessilian year;

(2) decimalisation of the DAY counts - as in The Metric Second.

(3) decimalisation of the SECONDS count – as in  its use with  multiples and sub-multiples of the base unit in SI

(4) Additionally, I have attempted and did some calculations in determining some known intervals of time in  *decimalised HOURS (of our 24-hour clock)*, in showing the possibility to link with astronomical intervals/durations, such as:

Important Calendar Data (in Decimalised HOURS):

Tropical Year length (Equinox to equinox) = 365d.242189669781 =8765.812552074744 Hours;

Sidereal Year (fixed Star to same star) = 365d.25636342592 =8766.15272222208 Hours; 

Anomalistic Year (perigee to perigee) =365d.25963541666 =8766.23124999984 Hours;

Eclipse Period (node to node) = 346d.62007175925 =8750.881722222 Hours;

Tropical Moon (between equinoxes) = 27d.32158217592 = 655.71797222208 Hours;

Synodic/Lunation (between TWO moons) = 29d.5305881 =708.7341144 Hours;

Sidereal (wrt fixed star) = 27d.321662 =655.719888 Hours;

Anomalistic (perigee to perigee) = 27d.5545497 =661.3091928 Hours;

ONE tithi =2L/59th =59.0611762/59 =1.001036885 day (or 24.02488524 Hours)

966 Solar days = 965 ‘tithi or phases’; Ratio, 966/965 = 1.00103626943 (in 24.02487046632 hours) 849 solar days =839 ‘nakshatra or asterisms’; Ratio, 849/839 =1.0119189511323 (in 24.286054827 Hours);

One solar day = 1.0027379097 sidereal day (of 24.0657098328 Hours)

One sidereal day = 0.99726956598 solar day (of 23.93446958352 Hours)

Average transit of Earth per day =0.98564736 degree; 

Average transit of Earth per degree =1.014561638 day (in 24.349479312 Hours); and

Number of Lunations per Year = 12.36826671 lunations

